BT TRIA O - HEHHEE X T 3FEJ'Zi5E1 1AERIBHE
+H D - 3y D
X 71,702 158,083 75,610 82,473 [ Z&FILUETAT 735 1,892 898 994
E 4606 10,116 4,701 5,415
BEKET1T 886 1,913 929 984 |EREEFZHI2T 1,386 3,245 1,560 1,685
BEKET2T 346 836 400 436 5 1,386 3,245 1,560 1,685
B 1,232 2,749 1,329 1,420 |R=ZE~,EBT1T 113 307 156 151
< FE] BT 8,299 20,164 9585 10579 |[R=E~ER2T 263 516 244 272
Lt RER1T 342 551 270 281 |{R=E~ EBT3T 439 999 486 513
Tt RERT2T 224 447 208 239 |{R=E~EBT4T 187 346 160 186
Lt RER3T 292 517 280 237 |R=E~ EBT5T 378 689 370 319
Lt RERT4T 167 293 149 144 5| 1,380 2,857 1,416 1,441
Lt RERST 136 289 143 146 | KZIFAT1T 750 1,701 800 901
Tt ERERGT 94 249 120 129 | KEZFET2T 899 1,955 942 1,013
TtERER7T 72 172 83 89 | 1,649 3,656 1,742 1,914
Tt ERERST 120 215 111 104 |BRERTT 70 168 77 91
g 1,447 2,733 1,364 1,369 [ RERT2T 152 341 175 166
tfEBET1T 195 423 198 225 (BB RERI3T 162 235 73 162
tfEBET2T 1,082 2,488 1,185 1,303 |FRERT4T 235 398 148 250
tfEBET3T 897 1,743 858 885 B RERIST 133 310 145 165
tfEBET4T 868 1,996 998 998 Hi 752 1,452 618 834
g 3,042 6,650 3,239 3411 |F{EAMET 2,117 4,921 2,424 2,497
ERATET1T 623 1,610 804 806 | = AHT 240 452 232 220
ERATET2T 323 770 379 391 |BEEERMET1T 259 496 231 265
ERATETST 358 827 397 430 |BEE ERMET2T 452 924 462 462
g 1,304 3,207 1,580 1,627 (BEEHRMAETST 663 1,490 720 770
==Yl 1,012 2,226 1,061 1,165 (B E B FRMET4T 631 1,320 665 655
HEWEET 242 522 242 280 |BEE ERMETST 683 1,658 796 862
HERE2T 416 731 332 399 5| 2688 5,888 2,874 3,014
HEWREIIT 264 499 255 244 |EEEMEILET1T 230 397 190 207
HEWE4AT 141 302 139 163 (BT Bi#EiLET2T 388 852 413 439
B 1,063 2,054 968 1,086 |BE & BH#EILEIST 516 1,073 513 560
HEREET 1,642 3,315 1,526 1,789 |BE & B#EILET4AT 584 1,252 603 649
HEREET2T 3,127 6,745 3212 3533 |BEEMBILATST 714 1,662 804 858
HEFETST 3,090 6,260 2,828 3,432 B 2,432 5,236 2,523 2,713
HEFETAT 2,278 4,552 2,022 2530 |EEBHEET1T 954 1,926 930 996
HEREEIST 1,249 2,700 1,302 1,398 (B E BiBHT2T 144 305 156 149
5| 11,386 23572 10,890 12,682 |BEEMEEI3T 2,153 4578 2,227 2,351
HUEET1T 761 2,185 1,062 1,123 B 3,251 6,809 3,313 3,496
HYERT2T 520 1,320 653 667 |BEETZET1T 642 1,467 692 775
g 1,281 3,505 1,715 1,790 (B EBHEZET2T 477 1,042 496 546
MEET 436 1,012 497 515 | BEEfZAT3T 317 770 369 401
EET2T 305 771 37 400 B 1,436 3,279 1,557 1,722
g 741 1,783 868 915 |BEEEARET1T 667 1,336 668 668
WHAEET1T 732 1,914 913 1,001 (BEEARET2T 253 603 301 302
WHEEET2T 217 493 237 256 |BEEEARETST 1,020 2,815 1,370 1,445
RT3 T 696 1,504 734 770 B 1,940 4,754 2,339 2,415
g 1,645 3,911 1,884 2027 |EEBMEmET1T 300 670 322 348
RKEIRAT 5333 12,245 5,955 6,290 |BE BEmET2T 227 497 241 256
hRERTT 260 531 245 286 |BE EEmBET3T 569 1,272 626 646
hRER2T 206 368 166 202 g 1,096 2,439 1,189 1,250
hRERST 220 486 243 243 |J\TFdt 94 198 94 104
hRERT4T 274 550 258 292
B 960 1,935 912 1,023
o A BT 584 1,215 579 636
hEEEET1T 559 1,194 554 640
hEEEET2T 774 1,321 632 689
hEEEETST 433 1,084 520 564
hEEEET4T 683 1,377 680 697
hEEEEST 835 1,723 834 889
hEEEET6T 3,285 6,374 3,029 3,345
5| 6,569 13,073 6,249 6,824
P =T 737 1,759 850 909
BAFBILETTT 1,049 2,214 1,064 1,150
BXEFILET2T 980 2,227 1,100 1,127
BEAEFILAIST 1,842 3,783 1,639 2,144

IR=



